U N

EAEE S R BEeE | WERALH
e — B EE(NTS) 850
—a% /A% 1000
A | FER | E—MINBHEZ /D IMBEE A AS? ME—NEZ/DEE(NTY) NT$0.85
— BB PRENEERZ D ARNEE (g) 18
B MMBEEZ /D IMPEZ A A(NTS) NT$15.30 91.35%
WEB#NTS) NTSO
B | AT [Tiom—mmpEERES OAN? AR (H/30%/8 LIPE) L
B (1% At O () ) 5
TR —RMBEARS D A LER(NTS) NT$0.00 0.00%
= —HIMBER S D K(m) 460
e RIMBEHFIS K (m) 10000
C | mm [x—rmpms Lk A HRMBERZ DB K () 0.01046
—EAES D BHNTS) 9
BH—NIMBERZ /DIKEFE +5E)(NTS) NT$0.09 0.56%
FMESW) 4500 Gk
MBS — 0 5w 240
D | m# [B—RmBHES»EE? W BT B 40
—E®S DHNTY) 35
BA—MINMBFEEZ DEE(NTS) NT$0.39 2.35%
FHBRIBIEL  ZRENTY) NT$4,500
E | mm | RS R ERE R e PR L
BERMIT 4680
TR — NG BN ER(NTS) NT$0.96 574%
P an AR NT$1675 | 100.00%




